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BIHAR BOARD QUESTION PAPER  

हहन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2017 
इंटरमीडिएट परीऺा - 2017 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
सभम : 3 घॊटे 15 मभनट]              [ऩणूणांक : 100 

SECTION - A 

प्रश्न सॊख्मण 1 से 40 तक भें चणय विकल्ऩ ददए गए हैं जजनभें से एक सही है। सही 
विकल्ऩ को चनुें एिॊ उत्तय ऩत्र भें चचजननत कयें 

 

1. अथथशणस्त्त्र के जनक कौन थे ?  

(a) जे० फी० से०. 

(b) भणल्थस  

(c) एडभ जस्त्भथ  

(d) जॉन यॉबफन्सन 

 

2. भणॉग की रोच के ककतने प्रकणय होते हैं ?  

(a) तीन 

(b) ऩणॉच 

(c) छ: 

(d) सणत 
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3. उत्ऩणदन कण ननम्न भें कौन-सण सणधन है ? 

(a) बमूभ 

(b) श्रभ 

(c) ऩूॉजी 

(d) इनभें से सबी 

 

4. ककसके अनसुणय अथथशणस्त्त्र भणनि कल्मणण कण विऻणन है ? 

(a) भणशथर 

(b) सेम्मरुसन 

(c) जे. एस. मभर  

(d) एडभ जस्त्भथ 

 

5. फणजणय भलू्म ऩणमण जणतण है 

(a) दीघथ कणरीन फणजणय भें  

(b) अल्ऩ कणरीन फणजणय भें  

(c) अनत दीघथ कणरीन फणजणय भें  

(d) इनभें से कोई नहीॊ 

 

6. चगकपन िस्त्तुओॊ के मरए कीभत भणॊग की रोच होती है 

(a) ऋणणत्भक  

(b) धनणत्भक  

(c) शनू्म 

(d) इनभें से कोई नहीॊ 
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7. दीघथकणरीन उत्ऩणदन परन कण सम्फन्ध ननम्न भें से ककससे है ? 

(a) भणॉग के ननमभ से 

(b) ऩभैणने के प्रनतपर ननमभ से 

(c) भणॉग की रोच से  

(d) उत्ऩवत्त िदृ्चध ननमभ से  

 

8. मदद ककसी िस्त्तु की कीभत भें 60% की िदृ्चध हो ऩयन्तु ऩनूतथ भें केिर 3% की 
िदृ्चध हो ऐसी िस्त्तु की ऩनूतथ होगी 

(a) रोचदणय  

(b) फेरोचदणय  

(c) अत्मचधक रोचदणय  

(d) ऩणूथत् फेरोचदणय  

 

9. अथथव्मिस्त्थण की केन्रीम सभस्त्मण कौन-सी है ?  

(a) सणधनों कण आिॊटन 

(b) सणधनों कण कुशरतभ उऩमोग 

(c) आचथथक विकणस 

(d) इनभें से सबी 

 

10. ककस अथथव्मिस्त्थण भें कीभत तॊत्र के आधणय ऩय ननणथम मरमे जणते हैं ?  

(a) सभणजिणदी 

(b) ऩूॉजीिणदी 

(c) मभचश्रत 

(d) इनभें से सबी  
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11. जो चक्र ऩहरे फढ़ती है कपय जस्त्थय होकय घटनण आयम्ब कय देती है िह कौन-सी 
चक्र कहरणती है ? 

(a) APP  

(b) MPP 

(c) TPP  

(d) इनभें से सबी 
 

12. िस्त्तु की उस भणत्रण को क्मण कहते हैं जजसे विके्रतण ननजश्चत सभम फणजणय तथण 
कीभत ऩय फेचने के मरए तैमणय हो ?  

(a) ऩनूतथ  

(b) भणॉग 

(c) ऩनूतथ की रोच  

(d) भणॉग की रोच 
 

13. बणयत कण केन्रीम फैंक है 

(a) रयजिथ फैंक  

(b) स्त्टेट फैंक 

(c) जनतण फैंक 

(d) शमेय फणजणय 
 

14. ननम्न भें कौन जस्त्थय रणगत नहीॊ है ? 

(a) फीभे कण प्रीमभमभ 

(b) ब्मणज  

(c) कच्च ेभणर की रणगत 

(d) पैक्री कण ककयणमण 
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15. फजट प्रणजततमों के सॊघटक ननम्न भें से कौन हैं ? 

(a) यणजस्त्ि प्रणजततमणॉ  

(b) ऩूॉजीगत प्रणजततमणॉ  

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

16. द्वितीमक ऺेत्र भें ननम्न भें से कौन-सी सेिणऐॊ सजम्भमरत हैं ?  

(a) फीभण 

(b) फैंककॊ ग 

(c) व्मणऩणय 

(d) विननभणथण 

 

17. भणॉग िक्र की सणभणन्मत् ढणर होती है।  

(a) फणमें से दणमें ऊऩय की ओय 

(b) फणमें से दणमें नीच ेकी ओय 

(c) X- अऺ से सभणनणन्तय  

(d) इनभें से कोई नहीॊ 

 

18. कीन्स कण योजगणय मसद्धणन्त ननम्न भें से ककस ऩय ननबथय है ? 

(a) प्रबणिऩणूथ भणॉग  

(b) ऩनूतथ 

(c) उत्ऩणदन ऺभतण  

(d) इनभें से कोई नहीॊ 
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19. बणयत कण वित्तीम िर्थ है  

(a) 1 अप्ररै से 31 भणचथ 

(b) 1 जनियी से 31 ददसम्फय 

(c) 1 अक्टूफय से 30 मसतम्फय 

(d) इनभें से कोई नहीॊ 

 

20. सणख भरुण कण विस्त्तणय होतण है जफ CRR  

(a) घटतण है 

(b) फढ़तण है. 

(c) (a) औय (b) दोनों  

(d) इनभें से कोई नहीॊ 

 

21. नयमसॊहभ समभनत कण सम्फन्ध है 

(a) कय सधुणय से 

(b) फैंककॊ ग सधुणय से 

(c) कृवर् सधुणय से 

(d) आधणयबतू सॊयचनण सधुणय से 

 

22. केन्रीम फैंक द्िणयण कौन-सी भरुण जणयी की जणती है?  

(a) चरन भरुण 

(b) सणख भरुण 

(c) मसक्के 

(d) इनभें से सबी 
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23. ककस िर्थ बणयतीम रयजिथ फैंक की स्त्थणऩनण हुई थी ? 

(a) 1947 

(b) 1935 

(c) 1937 

(d) 1945 

 

24. ऐसे व्मम जो सयकणय के मरए ककसी ऩरयसम्ऩवत्त कण सजृन नहीॊ कयत,े कहरणते हैं 

(a) यणजस्त्ि व्मम 

(b) ऩूॉजीगत व्मम  

(c) (a) औय (b) दोनों  

(d) इनभें से कोई नहीॊ 

 

25. ननम्नमरखखत भें से ककसके ऩरयितथन से भणॉग भें ऩरयितथन नहीॊ होतण ?  

(a) भलू्म भें ऩरयितथन 

(b) आम भें ऩरयितथन 

(c) रूचच तथण पैशन भें ऩरयितथन 

(d) इनभें से कोई नहीॊ 

 

26. आम फढ़ने ऩय उऩबोक्तण ककन िस्त्तुओॊ की भणॉग घटण देतण है?  

(a) ननम्न कोदट की िस्त्तुएॉ  

(b) सणभणन्म िस्त्तुएॉ 

(c) चगकपन िस्त्तुएॉ 

(d) (a) औय (b) दोनों 
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27. ककसी िस्त्तु भें भणनिीम आिश्मकतण की ऩनूतथ की ऺभतण को कहते हैं  

(a) उत्ऩणदकतण  

(b) सन्तुजटट  

(c) उऩमोचगतण 

(d) रणबदणमकतण 

 

28. उस िक्र कण नणभ फतणएॉ जो आचथथक सभस्त्मण दशणथतण है। 

(a) उत्ऩणदन िक्र  

(b) भणॉग िक्र  

(c) उदणसीनतण िक्र 

(d) उत्ऩणदन सम्बणिनण िक्र 

 

29. उऩबोक्तण व्मिहणय कण अध्ममन ककमण जणतण है। 

(a) सकू्ष्भ अथथशणस्त्त्र भें  

(b) आम विश्रर्ण भें 

(c) सभजटट अथथशणस्त्त्र भें 

(d) उऩमुथक्त भें से कोई नहीॊ 

 

30. व्मजटट अथथशणस्त्त्र के अॊतगथत ननम्न भें ककसकण अध्ममन ककमण जणतण है ? 

(a) व्मजक्तगत इकणई 

(b) आचथथक सभग्र 

(c) यणटरीम आम 

(d) उऩमुथक्त भें से कोई नहीॊ 
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31. उऩमोचगतण कण सम्फन्ध होतण है। 

(a) रणबदणमकतण से 

(b) ननैतकतण से  

(c) भणनि आिश्मकतण की ऩनूतथ से  

(d) इनभें से सबी 

 

32. विरणमसतण िस्त्तुओॊ की भणॉग 

(a) फेरोचदणय होती है 

(b) रोचदणय होती है 

(c) अत्मचधक रोचदणय होती है 

(d) ऩणूथतमण फेरोचदणय होती है। 

 

33. उत्ऩणदन परन भें, उत्ऩणदन ककसकण परन है ? 

(a) कीभत कण 

(b) उत्ऩवत्त के सणधनों कण 

(c) कुर व्मम कण 

(d) इनभें से कोई नहीॊ  

 

34. िह कौन-सण सभम है जजसभें उत्ऩणदन के सबी सणधन ऩरयिनतथत ककमे जण सकते हैं?  

(a) अल्ऩकणर  

(b) दीघथकणर 

(c) अनतदीघथकणर  

(d) तीनों  
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35. फैंककॊ ग रोकऩणर मोजनण की घोर्णण ककस िर्थ की गई ? 

(a) 1990 

(b) 1995 

(c) 1997 

(d) 2000 

 

36. अिसय रणगत कण िकैजल्ऩक नणभ है 

(a) आचथथक रणगत  

(b) सन्तुरन भलू्म  

(c) सीभणन्त रणगत  

(d) औसत रणगत 

 

37. केन्रीम फैंक सणख ननमॊत्रण कयती है 

(a) फैंक दय के जरयमे 

(b) खुरे फणजणय प्रकक्रमण के जरयमे 

(c) CRR के जरयमे  

(d) इनभें से सबी 

 

38. भरुण ऩनूतथ कण ननमभन कौन कयतण है ? 

(a) बणयत सयकणय 

(b) रयजिथ फैंक ऑप इजडडमण  

(c) व्मणऩणरयक फैंक 

(d) मोजनण आमोग 
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39. कीन्स के अनसुणय विननमोग से अमबप्रणम है 

(a) वित्तीम विननमोग से  

(b) िणस्त्तविक विननमोग से  

(c) (a) औय (b) दोनों से 

(d) इनभें से कोई नहीॊ 

 

40. फजट की अिचध क्मण होती है ? 

(a) िणवर्थक 

(b) दो िर्थ 

(c) ऩणॉच िर्थ 

(d) दस िर्थ 

SECTION - B 

प्रश्न सॊख्मण 1 से 10 तक रघ ुउत्तयीम प्रकणय के हैं। प्रत्मेक के मरए 3 अॊक ननधणथरयत है। 

1. आचथथक कक्रमण क्मण है ? https://www.bsebstudy.com 

2. सकू्ष्भ अथथशणस्त्त्र से आऩ क्मण सभझते हैं ?  

3. ऩूॉजीिणदी अथथशणस्त्त्र को ऩरयबणवर्त कयें। 

4. घटती हुई सीभणन्त उऩमोचगतण कण ननमभ सभझणइए ।  

5. भणॉग के ननमभ की वििेचनण कीजजए। 

6. आम कण चक्रीम प्रिणह सभझणइए । 

7. यणटरीम आम तथण घयेर ूआम भें अॊतय स्त्ऩटट कयें।  

8. भरुण के ककन्हीॊ दो कणमों की व्मणख्मण कीजजए। 

9. व्मणऩणरयक फैंक की ऩरयबणर्ण दीजजए।  

10. केन्रीम फैंक ककस प्रकणय व्मणऩणरयक फैंक से मबन्न होतण है ? 
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प्रश्न संख्या 11 से 15 तक दीर्ि उत्तरीय हैं। प्रत्येक प्रश्न के लऱए छ: 6 अंक ननर्ािररत 
है। 

 

11. भणॉग कण ननमभ सभझणइए इस ननमभ की क्मण भणन्मतणएॉ हैं ?  

12. यणटरीम आम से आऩ क्मण सभझते हैं ? यणटरीम आम की गणनण कयने की ककन्हीॊ 
दो विचधमों को सभझणिें। 

13. िस्त्तु विननभम प्रणणरी क्मण है? इसकी कदिनणइमणॉ फतणइए।  

14. सणख ननमन्त्रण से आऩ क्मण सभझते हैं? केन्रीम फैंक द्िणयण सणख ननमॊत्रण के 
यीनतमों की व्मणख्मण कयें। 

15. विननभम दय से आऩ क्मण सभझते हैं? विननभम को ननधणथरयत कयने िणरे भखु्म 
कणयकों कण िणथन कीजजए। 

 

 

 

 

 

 

******** 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2017 
इंटरमीडिएट परीऺा - 2017 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
Time: 3 Hours 15 Minutes]             [Full Marks: 100 

SECTION-A 

Question No. 1 to 40 have four options, out of which only one is correct. You have to 

mark, your selected option, on the OMR Sheet.  

 

1. Who was the father of Economics? 

(a) J. B. Say  

(b) Malthus 

(c) Adam Smith 

(d) Joan Robinson  

 

2. How many types of elasticity of demand are these? 

(a) Three  

(b) Five  

(c) Six 

(d) Seven 

 

3. Which of the following is a source of production? 

(a) Land  

(b) Labour  

(c) Capital 

(d) All of these 
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4. According to whom, Economics is a science of human welfare?  

(a) Marshall 

(b) Samuelson 

 (c) J. S. Mill 

(d) Adam smith  

 

5. Market Price is found is 

(a) Long period market 

(b) Short period market  

(c) Very long period market 

(d) None of these 

 

6. For Giffin goods price elasticity of demand is  

(a) Negative 

(b) Positive 

(c) Zero 

(d) None of these 

 

7. Long run production function in related to  

(a) Law of demand 

(b) Law of returns to scale 

(c) Elasticity of demand 

(d) Law of increasing returns 

 

8. If the price of goods rises by 60% but supply increases by only 5% , the supply of 

goods will be  

(a) Elastic 

(b) Inelastic 

(c) Highly elastic 

(d) Perfectly inelastic 
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9. Which is the central problem of economy? 

(a) Distribution of resources 

(b) Effective utilisation of resources 

(c) Economic development 

(d) All of these  

 

10. In which economy decision is taken on the basis of price mechanism? 

(a) Socialist  

(b) Capitalist 

(c) Mixed 

(d) All of these  

 

11. The cycle which increases first and after being constant starts to reduce is called? 

(a) APP  

(b) MPP 

(c) TPP  

(d) All of these 

 

12. The quantity of goods which the seller is ready to sell in a market at fixed price and 

time is called? 

(a) Supply 

(c) Elasticity of supply 

(b) Demand 

(d) Elasticity of demand 

 

13. Central bank of India is 

(a) Reserve Bank 

(b) State Bank  

(c) Public Bank  

(d) Share market  
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14. Which of the following is not a fixed cost? 

(a) Insurance Premium 

(b) Interest 

(c) Cost of raw material  

(d) Rent of the factory 

 

15. Which of the following is a component of budget receipts ? 

(a) Revenue Receipts 

(b) Capital Receipts 

(c) Both (a) and (b)  

(d) None of these 

 

16. Which one of the following services is included in secondary sector? 

(a) Insurance  

(b) Banking 

(c) Trade 

(d) manufacturing  

 

17. Demand curve generally slopes 

(a) Upward from left to right 

(b) Downward from left to right 

(c) Parallel to X-axis 

(d) None of these 

 

18. On which factor does Keynesian theory of employment depend? 

(a) Effective demand 

(b) Supply 

(c) Production efficiency  

(d) None of these 
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19. Financial year in India is 

(a) April 1 to March 31 

(b) January 1 to December 31 

(c) October 1 to September 30 

(d) None of these 

 

20. Credit money is increased when CRR 

(a) Falls 

(b) Rises  

(c) Both (a) and (b) 

(d) None of these 

 

21. Narsimham committee is related to 

(a) Tax reforms 

(b) Banking reforms  

(c) Agriculture reforms 

(d) Infrastructure reforms 

 

22. Which type of currency is issued by central bank? 

(a) Currency notes 

(b) Credit money 

(c) Coins 

(d) All the above 

 

23. In which year Reserve Bank of India was established?  

(a) 1947 

(b) 1935 

(c) 1937 

(d) 1945 
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24. The expenditure which do not create assets for the government is called  

(a) Revenue Expenditure 

(b) Capital Expenditure 

(c) Both A and B 

(d) None of these 

 

25. For a change in which of the following there is no change in demand ? 

(a) Change in price 

(b) Change in Income 

(e) Change in Taste and Fashion 

(d) None of these 

 

26. With an increase in income consumers decrease the consumption of which goods? 

(a) Inferior goods 

(b) Normal goods 

(c) Giffin goods 

(d) Both (a) and (b) 

 

27. The ability of satisfying human want in goods is called its 

(a) Productivity  

(b) Satisfaction 

(c) Utility 

(d) Profitability 

 

28. Mention the name of the curve which shows economic problem 

(a) Production curve 

(b) Demand curve 

(c) Indifference curve 

(d) Production Possibility curve 
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29. Consumer behaviour is studied in 

(a) Micro Economics 

(b) Income Analysis  

(c) Macro Economics 

(d) None of the above 

 

30. Which of the following is studied under Micro Economics? 

(a) Individual unit 

(b) Economic Aggregate  

(c) National Income 

(d) None of the above 

 

31. Utility is related to 

(a) Usefulness 

(b) Morality 

(c) Satisfaction of human wants  

(d) All of above 

 

32. For luxury goods the demand is 

(a) Inelastic  

(b) Elastic 

(c) Highly elastic 

(d) Perfectly inelastic 

 

33. In production function, production is a function of  

(a) Price 

(b) Factors of production 

(c) Total expenditure 

(d) None of these 
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34. At which time all the factors of production may be changed? 

(a) Short run  

(b) Long run  

(c) Very long run  

(d) All the three 

 

35. Banking Ombudsmen scheme was announced in the year 

(a) 1990 

(b) 1995 

(c) 1997 

(d) 2000 

 

36. The alternative name of opportunity cost is 

(a) Economic cost 

(b) Equilibrium price  

(c) Marginal cost 

(d) Average cost 

 

37. Central bank controls credit through  

(a) Bank Rate 

(b) Open market operations 

(c) CRR 

(d) All the above 

 

38. Who regulates money supply? 

(a) Government of India 

(b) Reserve Bank of India  

(c) Commercial banks 

(d) Planning commission 
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39. For Keynes, investment implies 

(a) Financial Investment 

(b) Real Investment 

(c) Both (a) and (b)  

(d) None of the above 

 

40. What is the duration of a Budget? 

(a) Annual 

(b) Two years 

(c) Five years  

(d) Ten years 

SECTION-B 

Question No 1 to 10 are short answer type. Answer any 15 Question Each question 

carries 2 Marks.  

1. What is an economic activity? 

2.  What do you understand by Micro-economics? 

3. Define capitalist economy. 

4. Explain the Law of Diminishing Marginal Utility. 

5. Discuss the law of Demand.  

6. Explain the circular flow of income. 

7. Distinguish between national income and domestic income 

8. Explain any two function of money.  https://www.bsebstudy.com 

9. Define commercial bank.  

10. How is the central bank different from commercial bank? 

 

Question No. 11 to 15 are long answer type. All questions are compulsory. Each question 

carries 5 Marks. 

11. Explain the law of demand and what are its assumptions? 
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12. What do you understand by National Income? Explain any two methods of 

calculating National Income. 

13. What is Barter system? Mention its difficulties. 

14. What do you mean by credit control? Explain the methods of credit control by 

Central Bank.  

15. What do you mean by Exchange Rate? Explain the main factors which determine 

exchange rate. 

 

 

 

********* 
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